[TonyuuTb ypaBHeHHe NBHXKEHHS KyJHCHOro MexaHusma. Haiitu

3Ha4YeHHe yIJIOBOTO yCKOpeHHUs ¢ 1pu t = 0.

Bapuanr 1

MDz = M() — k)UJ3Z,

an = —Hw4,,

My = 10HwM, k£ = 13Hwmc,
w=12Hwmc, I = TRrMZ,
meo = 17Kr, ms = 35Kr,
mg = 27KT, M5 = DK,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26¢cMm, Ry = 20cM,
rqs = 12¢cMm, i4 = 16cM,
$1,0 = 1.4, Wi,,0 = 03%

Bapuanr 2

MDz = M() — kwlz,

an = —pw4,,

an = —UVVUs,,

My = 13Hwm, k£ = 12Hwmc,
v = 25Hc/m, p = 11Hwme,
I = 19K1"M2, mo = 17Kr,
ms = 3DKr, m4 = 27KT,
Ry = 35¢cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqy = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 02%

Bapuanr 3

Mp, = Mo — kws.,,

an = —Hw4_,

F,, = —vus,,

Mo = 9Hwm, k = 15Hwmc,
v = 8kHc/m, = 13Hwme,
I = 6KI‘M2, meo = 16KT,
ms = 34Kr, m4 = 20KT,
Ry = 38cMm, r1 = 27cM,
Rs3 = 28cm, Ry = 20cM,
rqs = 12¢cM, 14 = 15cM,
g017() = 1.3, ojlz,o = 05%




Bapuant 4

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

My = 10HwM, k£ = 14Hwmc,
v = 8kHce/m, u = 12Hwmc,
I = 9KI‘M2, meo = 16KT,
ms = 34Kr, ma4 = 26K,
R1 = 37cm, 1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 15cm,
$1,0 = 1.3, Wi,,0 = 0.4%.

Bapuanr 5

MDz = M() — kwlz,

M, = —pws,,

My = 13Hwm, k£ = 13Hwmc,
pw=11Hwmc, I = 19krm?,
meo = 17Kr, ms = 35Kr,
mg = 27KT, ms = TKT,
Ry = 36¢cmM, r1 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
o10=14, w1 0=03L

Bapuanr 6

MDz = M() — kwlz,

M, = —pws,,

an = —UVVUs,,

My = 12Hwm, k£ = 13Hwmc,
v = 20Hc/m, p = 13Hwme,
I = 15K1"M2, mo = 16KT,
ms = 34Kr, my4 = 206KT,
Ry = 36cm, 11 = 25cM,
R3 = 26CM, R4 = QOCMy
rqy = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.3%A




Bapuant 7

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

My = 14Hwm, k£ = 11Hwmc,
v = 20Hc/m, g = 11Hwme,
I = 23krm2, mo = 18k,
ms = 36KT, my4 = 28KT,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqy = 12¢cMm, 14 = 17cMm,
$1,0 = 1.5, Wi,,0 = 0.1%.

Bapuanr 8

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 12Hwm, k£ = 13Hwmc,
v = 8kHce/m, u = 10Hwmc,
I = 13xkrm2, mo = 18kr,
ms = 36Kr, my4 = 28KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqy = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 0.3%A

Bapuanr 9

MDz = Mo — kaz,

M, = —pws.,

F,, = —vus,,

My = 8Hwm, k = 15Hwmc,
v = 40Hc/m, p = 14Hwme,
I = 5xrm?2, mo = 14kr,
ms = 32KT, ma4 = 24Kr,
Ry = 38cm, r; = 27cwm,
Rs3 = 28cwm, Ry = 20cM,
rqs = 12¢cMm, i4 = 13cM,
$1,0 = 1.1, Wi,,0 = 05%




Bapuant 10

MDz = Mo — kaz,

Mn, = —pwa.,

Mo = 9Hwm, k = 15Hwmc,
u=13Hwme, I = 6KFM2,
meo = 16Kr, ms = 34Kr,
my4 = 26KT, ms = 4KT,
Ry = 38cm, r; = 27cwM,
Rs3 = 28cm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,
¢10=13, wi.0=05L

Bapuant 11

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

Mo = 9Hwm, k = 11Hwmc,
v = 40Hc/m, p = 15Hwme,
I = 6KI‘M2, meo = 14K,
ms = 32KT, ma4 = 24Kr,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqy = 12cMm, 14 = 13cm,
p10=11, w1 0=01L

Bapuanr 12

Mp, = Mo — kws_,
Mn, = —jwa.,

Moy = 9Hm,k = 13Hwmc,
w=12Hwmc, I = 6KIrM2,
ms = 16Kr, ms = 34kKr,
my4 = 26KT, ms = 3KT,
Ry = 36¢Mm, 71 = 25¢M,
R3 = 26CM, R4 = QOCMy
rqy = 12¢cMm, 14 = 15cm,
rs = 10cwMm,

$1,0 = 1.3, Wi,,0 = 0.3%A




Bapuant 13

MDz = Mo — kaz,

M, = —pws,,

Mo = 12Hwm, k = 14Hwmc,
p = 11Hwmc, I = 13xrm?,
meo = 18Kr, ms = 36Kr,
my4 = 28KT, ms = TKT,
Ry = 37cwm, r; = 26¢M,
Rs3 = 27cm, Ry = 20cM,
rqe = 12cM, 14 = 17cM,
$1,0 = 1.5, Wi,,0 = 04%

Bapuant 14

Mp, = Mo — kws.,,

M, = —pws,,

F,, = —vus,,

My = 11Hwm, k£ = 14Hwmc,
v = 30Hc/m, p = 12Hwme,
I = 12krm2, mo = 16kT,
ms = 34Kr, ma4 = 26K,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 15cm,
g017() = 1.3, ojlz,o = 0.4%.

Bapuanr 15

MDz = M() — kwlz,

My, = —pwa,,

an = —UVVUs,,

My = 12Hwm, k£ = 13Hwmc,
v = 8kHc/m, u = 12Hmc,
I, = 15xkrM2, mo = 16kr,
ms = 34Kr, my4 = 206KT,
Ry = 36cm, 11 = 25cM,
R3 = 26CM, R4 = QOCMy
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.3%A




Bapuanr 16

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Moy = THwm, k = 11Hwmc,
v = 30Hc/m, p = 14Hwme,
I = 4KI‘M2, meo = 14Kr,
ms = 32KT, ma4 = 24Kr,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 0.1%.

Bapuanr 17

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 8Hwm, k = 15Hwmc,
v = 35Hc/m, = 13Hwme,
I = 5KFM2, meo = 15KT,
ms = 33KTI, m4 = 25KT,
Ry = 38cMm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqy = 12¢cM, 74 = l4cmM,
$1,0 = 1.2, Wi,,0 = 05%

Bapuant 18

MDz = Mo — kaz,

M, = —pws.,

F,, = —vus,,

My = 12Hwm, k£ = 15HMmc,
v = 40Hc/m, g = 11Hwme,
I = 15krm2, mo = 17kT,
ms = 35Kr, my4 = 27KT,
Ry = 38cm, r; = 27cwm,
Rs3 = 28cwm, Ry = 20cM,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 05%




Bapuant 19

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

Moy = 10Hwm, k£ = 15Hwmc,
v = 8kHce/m, u = 15Hwmc,
I = 7KI‘M2, meo = 14K,
ms = 32KT, my4 = 24KT,
Ry = 38cm, r1 = 27cM,
Rs3 = 28cwm, Ry = 20cM,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 05%

Bapuanr 20

MDz = M() — kwlz,

My, = —pwa,,

an = —UVVs,,

My = 11Hwm, k£ = 15HwMmc,
v = 8kHce/m, u = 13Hwmc,
I = 11K1"M2, meo = 1DKT,
ms = 33KTI, m4 = 25KT,
Ry = 38cMm, r1 = 27cM,
R3 = QBCM, R4 = QOCMy
rqy = 12¢cM, 74 = l4cmM,
$1,0 = 1.2, Wi,,0 = 05%

Bapuant 21

Mp, = Mo — kws_,
M, = —pws,,

Mo = 11Hwm,k = 12Hwmc,
u=11Hwme, I = 8Krm2,
meo = 18kr, ms = 306kT,
my = 28Kr, ms = 60Kr,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqg = 12cM, 14 = 17cM,
rs = 16¢Mm,

$1,0 = 1.5, Wi,,0 = 02%




Bapuant 22

Mp, = Mo — kws,,
M, = —pws.,

My = 10HwMm,k = 12Hwmc,
uw=12Hwmc, I = 9KrM2,
meo = 16Kr, ms = 34Kr,
my4 = 26KT, ms = 4KT,
Ry = 35¢cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqs = 12cM, 14 = 15cM,
rs = llcwm,

$1,0 = 1.3, Wi,,0 = 0.2%.

Bapuanr 23

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —VUs,,

Moy = 8Hwm, k = 14Hwmc,
v = 8kHce/m, u = 14Hwmc,
I = 5KFM2, mo = 15KT,
ms = 33KTI, m4 = 25KT,
Ry = 37cmM, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 04%

MDz = Mo — kaz,
My, = —pwa,,

My = 9Hwm,k = 12Hwmc,
u=13Hwme, I = 7KFM2,
meo = 15kr, m3 = 33kT,
mg = 2DKT, ms = 3KT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqy = 12¢cM, 74 = 14cM,
rs = llcwm,

$1,0 = 1.2, Wi,,0 = 02%




Bapuaur 25

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

My = 13Hwm, k£ = 11Hwmc,
v = 20Hc/m, g = 10Hwme,
I = 18KI‘M2, meo = 18KT,
mg = 36Kr, m4 = 28KT,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqy = 12¢cMm, 14 = 17cMm,
10 =15, w1 0=01L

Bapuaur 26

Mp, = Mo — kws_,

M, = —pws,,

an = —UVVs,,

My = 8Hwm, k = 15Hwmc,
v = 55Hc/m, = 14Hwme,
I, = 5xrm?, mo = 14kr,
ms = 32KTI, my4 = 24Kr,
Ry = 38cm, r1 = 27cM,
Rs = 28cMm, R4 = 12¢cwM,
p10=11, w1 0=05

Mp, = Mo — kws_,

My, = —pwa,,

Mo = 9Hwm, k = 11Hwmc,
w=12Hwmc, I = 6KIrM2,
ms = 16Kr, ms = 34kKr,
mg = 26KT, ms = 3KT,
R1 = 34cm, 1 = 23cm,
Rs = 24cMm, Ry = 20cwM,
rqy = 12¢cMm, 14 = 15cm,
010 =13, wi.0=01%




Bapuanr 28

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

My = 11Hwm, k£ = 12Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 12krm2, mo = 16kT,
ms = 34Kr, m4 = 20KT,
Ry = 35cmM, r1 = 24cm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 15cm,
$1,0 = 1.3, Wi,,0 = 0.2%.

Bapuaur 29

MDz = M() — k)UJ3Z,
My, = —pwa,,

Moy = 8Hwm,k = 11Hwmc,
w=13Hwme, I = 5KIrM2,
meo = 15Kr, ms = 33Kr,
mg = 2DKT, ms = 2KT,
R1 = 34cm, 1 = 23cm,
R3 = 24CM, R4 = QOCM,
rqs = 12¢cM, 14 = 14cM,
rs = 10cMm,

$1,0 = 1.2, Wi,,0 = 01%

Bapuanr 30

MDz = Mo - kw1z,

My, = —pwa,,

F,, = —vus,,

My = 10HwM, k£ = 15HMmc,
v = 30Hc/m, p = 15HMmc,
I = TkrM?2, mo = 14kr,
ms = 32KT, ma4 = 24Kr,
Ry = 38cm, r; = 27cwm,
Rs3 = 28cwm, Ry = 20cM,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 05%




OtBeThl

T = (¢?/2)(A + Bsin? @)

A B Q €
1 9.268 | 2.255 | -34.036 | -2.974
2 | 21.144 | 3.530 6.808 0.276
3 | 8455 | 6.023 | -176.906 | -12.621
4 | 11.327 | 5.585 | -106.996 | -6.493
5 | 21.268 | 5.278 23.387 0.883
6 | 17.203 | 16.869 | -35.965 | -1.106
7 | 25.081 | 1.590 12.471 0.468
8 | 15.333 | 2.302 -2.012 -0.115
9 7.310 1.971 -12.052 | -1.380
10 | 8.455 | 2.235 | -37.929 | -4.386
11 | 7.850 | 3.500 | -20.529 | -1.933
12 | 8.203 | 3.734 | -28.538 | -2.453
13 | 15.464 | 2.755 -12.156 | -0.669
14 | 14.327 | 5.585 -51.867 | -2.670
15 | 17.203 | 3.539 | -19.405 | -0.951
16 | 5.850 | 12.028 | -24.466 | -1.592
17 | 7.383 | 18.066 | -106.720 | -4.691
18 | 17.527 | 13.541 | -103.681 | -3.398
19 | 9.310 | 3.509 | -45413 | -3.783
20 | 13.383 | 5.397 | -137.669 | -7.644
21 | 10.205 | 3.446 -51.438 | -3.774
22 | 11.083 | 3.535 8.323 0.577
23 | 7.259 | 3.532 | -59.767 | -5.806
24 | 9.021 | 3.004 -4.134 -0.435
25 | 20.081 | 3.504 | -22.210 | -0.943
26 | 7.310 | 3.645 | -37.472 | -3.708
27 | 7.965 | 3.436 -8.180 -0.734
28 | 14.083 | 4.759 | -32.042 | -1.735
29 | 6.907 2.704 -21.195 -2.291
30 | 9.310 | 16.576 | -87.065 | -3.948
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